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W/S AA4-18 Parabola Formats

The equation of a parabola can be written in any of three formats:
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2) Convert from STANDARD FORM to VERTEX FORM by-findifig the vertex (-b/2a), then using the same "a” value.
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4) Convert from FACTORED FORM to VERTEX FORM by finding the vertex (midpoint of x-intercepts), then using
the same "a” value.
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5) Convert from VERTEX FORM to STANDARD FORM by alfgebraically multiplying out the equation.
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6) Convert from VERTEX FORM to FACTORED FORM. There is no way to go directly from Vertex Form to Factored
Form. We need to combine the process in #5 to create a Standard Form equaticn, then follow the process in #1
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